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0 3.1 An example graph G = (V, E) and its representations



030 00000 14

0036 GOOO w00 v, 000000 ¢000000000((vg,v1), (v1,02), -+
(vk—1,vx)) 000000000000D00000O0O00O0O0O000O0O0000O0000O000
000000000000200y0000000000000000z 5y0000000
000000000000000000000000000000000000000000
000000000000000000000000000000000000000000
000000000000000000000000000000000000000000
00000000000000000000

032 0O 310 ((Ul,vg>, (UQ,Ug), (U3,1J4)) gooooooooooo ((0171]2)7 (1)2,1}6),
(ve,v5), (vs,v1)) 00000000000 ((va,v3), (v3,v4), (vg,v3)) 00 DOO0ODOO 3.1
0000 GoOooooooooo O

0037 000G=(V,E)000000000 G =(V,EY)00000000GO0
ugoogog x;yDDDDDDDDDDDDD Et 00 (z,y) DODDOOOOOO 200
000 (successor set) 00000 Suce(z) :={yl(z,y) € ET} 000000000000
gboboooboodb 0000000000 booboobub 200000
(predecessor set) 0 0000 Pred(z) := {z|(z,2) € E*} 00000000000 DOOO
gbobdd 000000000 z b0 b
y € AbjFrom(z)0 0000000000000 002000000000 2 € AbjTo(z)
Uz00OO0OO0OO0OO0ODOOOO

033 0310000GO000000 3.200000000000000 vy,vs,vs,v 0
00000 VOOO0OO0OO0O vs, vg,v7,0s 000000 {vs,v4,0s} 000000000000
0000000000000 O

O 3.2 The transitive closure of graph G of Figure 3.1
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0 3.3 (a) The strong components of graph G of Figure 3.1 and (b) the condensation
graph induced by the strong components of G.
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O 3.4 A spaning tree of graph G of Figure 3.1



030 00000 17

00 313 00000 G= V0V, E)DO0OViUVa=VOViNnVea =00V, xViNE =0
OV, xV,NE=000000000 G=(V,E)0000W0V, 000000000000
ooooooo

037 0310000 GDDV1:{vl,vg,vﬁ,vg}DVg:{02,1)4,1)5,1}7}DDDDDDDD
odooodoooo O

000 FCcVxxVOVOIOOOOOOOOODOOooooOovoooobooooo EOO
ggoboboooobobboooobobboooobobobouoooobobooooobooboa

00 314 0000 ECVxVODOOOO EtCVxVOODET=J,.,E"00000
O0D0000E'=I00E" =FE"cE=FEoE"00000000/0000000000
0ooooooooo

038 0310000 G=(V,E)OOODODODODDODDOOOOOOODOOOOOOOOO
000000000000 000000000000000000000000 |Vjoo
0000000000 3.100000000000070000000000000000
Et=FUE?UE3UE*UESUESUE" O

32 000000

0000000000000000000000 G=(V,E)ODDODOOOO Gt =(V,E")
gogooboooooo

000000000000000000000 G=(V,E)000OVOOOOO 2xz000
gooboboooobbtboooobobbdooobbboooob bbb bbooobo
00000000000 x000000000000000O0000O0 Suec(z) 00000
ugn

000000000000 oUo0D G=(V,EF)0000D0 XeVOOODODOX0OOOO
gogooboboooobbboooobbbooobbbuoooobbboooubbboooobo
ooo0obo0oOoOo0oOOobO0obOoXOooOooobooooobooboooogooboboooo

gogoboboooobbooooboboooobbbooobbboooobboooonbo
gooboboooobobuooouobbuoooobbuoooobbboooobboo

O0O0b00O000 XObhoooooobOobooooooboboboobooooooo
gogoboboogobooboobooooooboooooo



030 00000 18

3.3 0000000 covertchannelDOOOOOO

permission 00 object 0 subject 00 OO V:=0USOO00O000OO0O0OOOACLOO
gooooooood

00315 00 ACLODODODOOODODO0O Gy = (V,E) =(0,S,E)000000
V:=0US0000 E = {(z,y) € VxV]|zRwv2zWy} 000000000000
OUS=VO0ONS=000xONE=00SxSNE=000000000000000
object 000 subject 000 000000000000000000

O00D00000ACLO zRey0000000D000000000 Ga=(V,E)DO0O
(z,y) ¢ EDD0D0O00O00D0O0O0ACLO o01Rsy AsitWog AogRsa A -+ ANopRs, 000
000000G.0000 ((01,81), (51,02),(01,81),-+* , (0n,8,),)00000 01 — s, 00
00000000000000000Ocovert channel 0100 0000000000000O0
00000000000

00 316 0D0000D00O Ga=(0,S,F)D00 covert channel 0 0 O(z,y) € OXSNET—E
ubbo z,yOOoooooo x%yDDDDDDDDDDDDDDDDDDDDD]ACLD
O covert channeld 00 G4 OO covert channeld O O O O covert channeld O 0O 0O O

0000000 Ga = (V,E) O covert channel 00 G% = (V, E#) 00 0E# := {(z,y) €
OxSl(z,y) e BT —FE}000000000Oobject z000000 CovertSuce(z) 000
00 CovertSucc(z) :=={y € S|(z,y) € E¥}00000000xR"y & (1,y) € E¥ &y €
CovertSucc(z) 000000

O0O0Ocovert channel 00 0000000000000 D0OOOO00ODOOOOOODOOOOO

00 3.17 covert channel 0000000000000 000OO Ga=(0,S,FE)O0 covert
channel 00 G% = (V,E#)00000000000

covert channel 0 0O 0 00O CovertSucc(O) OO 00O OOOOOOCCovertChannel(x)
000000 CovertChannel(z) = SN Suce(x) — AdjFrom(z) 000000000000
000 G4=(0,5,E,)0000000000000DO0DOOSO AdjFrom(z)00000
0000000000000 000000 Swee(x) 00 0D0DOO0O0OO0OO0OODODOOOOOO
Oo00000000000D0O0O0DOOO00O0D0OOcovert channel0OO0O0O0OO0OO0O0OO
O0Ocovert channel 00 0000000000000 O00ODOODOODO0OODOODOODOOODOO
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1 4 [

HRERERE

4.1 0OODOO

OO000000O0O0Ocovert channel 00 0000000000000 OOOOOODOOOO
gooboobbobooooooobooooooboboboooooooobbboooooobo
gooboboogobooooooon

411 O00O00O0ODODOOODOOOO

A0 G=(V,E)D |V|x|V|O0OODODODOODODADDD 100000000000000
00000 Afi,j]=true0000A2=AAAD0D0DO00O0O0OOD GOOO 2000
v; >0, 000000000000000 A%, ]=true000000000000 A% O
0D0000GOOD AOOD v 50, 000000000000000 A*[i,5] = true 0 O
00000000000000000000000000000000 GtO00000 AtQO
A0O00OOOOOOOOO

\4
At =\/ A (4.1)
k=1

Furman 000000000000 A+ = VWL Ak = (v A)ee(VI-DA0D0000O
O00At O O(log, |V)) 0DODODO0OODO0OOO0ODOOOO [140|V]|x|V|0oO0O
O(V*)000000000000Fwrman 00000000 O(VlogV)00000000
0000 0O Coppersmith O Winograd 00« < 2.376 00 0O [15]0

000000000000 Gu=(0,S,E)00000000001<4i<|0|=vu¢€0C
VOO|+1<j<|O|+|S|=v;eSCVDOOIODOODDDOOOOOODOOODG, O
1<4,j<|0/000000 |0]+1<4,j<|0|+[S|000000A[i,j]=false 0000
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0000000 Ga 000000000 ADDDDDODOODOO

A A A
A= ( Asr Ass ) = ( Ag,l 0 ) (42)
A1,0 10| x|S|00000000000000000000000v014; €S0 v €0
ODOreaed D00 0000 O0OOOOOOO Al,g[i,j]:trueDDDD
A1 0S| |0/00000000000000000000000v0144 €S0 ;€0

Owrite000000000000000 Agqfi,j]=true0on
0000000 A0D0DODOOO0O00O0DODODODOOODDODDOOOODOOOO

on _ [ (A12A21)F 0
A% ( ‘ o) (4.3)
0 (A12451)F A
2k+1 1,24121 1,2
A N < A 1(A1 245 1)" 0 > (44)

00000000000000000 G{00000 AT0D A0DDODOOODOOOOOOO
Af,00000000

A1+,2 = A1 oV (A12421)A1 2V (A1 2421)* A1V -V (A1,2A2,1)mm(w"lSDALQ
=V (A12421)V (141,2142,1)2 VeV (A1,2A2,1)mm(|o|’|s|))A1,2
= (IV(A124;,))08tmmUOLSD=1 4, , (4.5)

AT, 0 SNSucc(0)000DO00DO0DO00DOO|O0x|S|00 Af,0000000
oooooo

ALl 5] == = Az [, 5] A A4 [3, 5] (4.6)

ooo C’overtSucc(O)DDDDDDDDDDDDDA?;D covert channel 0 0 0000
ggoo

000000000 IVA,;00A00000000 trued0000000 ©(0)00
00000IxmO00 mxnO00000 OM(l,m,n)0000000000000R,
0 00 logmin(0, S)+M(0, S,0)+M(0,0,8))0 0000000000000 (4.6) O
000000000A7,00 Af;D O0S)0000000o0o0oO covert channel 0O
0000000000000 O0logmin(0,S) + M(0,S,0) + M(0,0,S)) 00000
D000000000000000000 O(S®logmin(0,S)+ M(S,0,8) + M(S, S,0))
gogooo

Ay = A12(IV (Ao1A12) V (A2 1A12)2 VoV (Ag 1 Ag o)™ 1CHISD) (4.7)

0| =1(S|0000000000000 O0%log0) 0000
00 covert channel 00000000000 [1]0000000OO



© 0 N O Ot s W N

040 DOO0O0O 21

412 0O00O0O0O0OOODODDOOODOOODOO

00000 (Breadth first search;BFS[12, 13)) D0 000000000000 O0O0OOO
uboobobodoboobobooboboobo -obooboboobuobbobod
0000000000000000000000000 41000000000 G=(V,E)
000 200 Suce(x) 000000

041000000000000 QUOODUODODO0OOUOOOVISITED(y) O yOOGooGQ
0000000000000200000000 yOOVISITED(y) 0JODOOO false OO
ooooooooooobooobooboboboboobooooobo4b00b00oboooooooDoo
O000000070000000 Suee(x) 0000000000000 DOOOOOOOOOO
ubodbuodgbooobooboobuoobuotobobobuoobeO00b000booonood
000z0000000000000000000000GOO0O000000 252000
00000 41000000000000x ¢ Suce(x) 0000

00000000000000 O(V+E)000070000000 Suee(s) 0000
gobobobotododooooouoooboobobbogooooboboobobbbodoooogogdgd
Suce(s) DOODOU0DOODOO0OOO0OO0OO0ODOOOS000000 O()DOUOUOOOOO
0410000000000000000O(V4+E)DOOO

Suce(z) := 0; VISITED(z) := true; Q:= {z}
while Q+# () do
y :=DEQUEUE(Q)
for each vertex z € AbjFrom(y) such that VISITED(z) = false do
VISITED(z) := true
ENQUEUE(Q, y)
Suce(x) := Suce(z) U {z}
end for

end while

0 4.1 A computation of Succ(x) using BFS.

000000000 Suec(O)DO0DOODOOcovert channel 000000000000
00oo0odoD 420000000

CovertSucc(z) NAbjFrom(z) =0 00000003000 AbjFrom(z) 0000000
000000000000100000 CovertSuce(x) CSOUDODDD0ODIFODOODOO
00042000 4100000000 |0O|0000000000DO0O0OOOOOOOOOO
0000 OOV +O0OE)=0(0>+0S+0F)0000
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for each object x € O do
for each vertex y € V do VISITED(y) := false
for each vertex y € AbjFrom(z) do VISITED(y) := true
CovertSucc(z) := 0; VISITED(z) := true; Q:= AbjFrom(x)
while Q# ()
y :=DEQUEUE(Q)
for each vertex z € AbjFrom(y) such that VISITED(y) = false do
VISITED(z) := true
ENQUEUE(Q, 2)
if z € S then CovertSucc(z) := CovertSuce(x) U {z}
end for

end while

end for

0 4.2 A covert channel detection using BFS.

000 G=(V,E)0000000 ¢ 000000000000000000000000
00000000000 Ters(x) = (Vipg(z), Ezpg(z)) 00D (120000000000
Vipg = {x}USuce(z) CVOODDDDOO0TEps(0) 000000000000 430000

00000000000 OOV +0E)=0(0?>+0S+0E)0000

for each object z € O do
for each vertex y € V do VISITED(y) := false
Vips(x) :={a}; Egpg(z) := 0; VISITED(z) := true; Q:= {z}
while Q# ()
y :==DEQUEUE(Q)
for each vertex z € AbjFrom(y) such that VISITED(z) = false do
VISITED(z) := true
ENQUEUE(Q, 2)
Vips(®) = Vppg(z) U{z}
Bl (@) = By (@) U {(5,2)}
end for

end while

end for

0 4.3 A computation of breadth-first tree.
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Tpps(z) 00000000000 y€ Vipgle)—{z} 00000000000 2>y 0
00o0000o0o0ooooooooooooooooo0 G=(VE)ooooooooooo
bbb obobobuoboboboboooooooooooooooooon
Tprs(x) 0000000 covert channel 00 0000000000000 440000

000000000000000 (Depth first search;DFS) 000000 [12, 13]0

O00000000D0000O0 object O subject 000000 OO0 O covert channel O
object 0O ODOO subject 0000000 O0OODODOOODNO covert channel 000000
O00ooooooOoO0o 10000 covert channel OO OSTACKOOOOOOOOO
Pushu OO0OOO TOP(STACK) DOOUOOOOODOOOOOOO STACKOOOOOO
O 5000 covert channel 0000000000 OO covert channel 00000 OSTACK O
gooooboboboon

044000007Trs(z) 0000000000000 080DO0ODOODOOO AbjFrom(y)
0o0oooooooooooooooboooonD 200000000000000

0000000000000000000000 O(Vps(a)+ Egpg(z)) 0000000
000D0000000000000|Eypg(z)| < |Vips(x)] =14 |Suce(z)] < |V|ODDDOO
00000000000000000 2min(0,S)00000005000 print(STACK)
0 Omin(0,5)) 000000000000 44000000000 O(Vmin(0,S)) O
oooV] = |0+ |S < 2max(|O|,|S|) OOO|V|min(|O},|S]) < 2/0[|S|0 00000
O(V min(0, S)) = O(0S)0

04400 object x € 00000000 Teps(2)00000000000000 O(02S)
gooog

STACK:= {z}
while STACK# ()
y :=TOP(STACK)
if AbjFrom(y) = () then
if HEIGHT(STACK) is not 1 and is odd then print(STACK)
POP(STACK)
else
PUSHU(STACK, POP(AbjFrom(y)))
end if
end while

0 4.4 An output algorithm of covert channlel

O 0 objectx € OO subject y € SOOO0O covert channel 000000000000 4.3
00 44000000000000000000000000 covert channel 000000
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D00 4500000000000 Gypg(@) = (Vips(), Esps(z)) 0000 Glypg(z) O
0000 4400000000000 covert channel 1 0000000000000000
0[16)000000000000000000000000000000000000000
0460000000

0 4600000000000 mO00000|0|=|S|=m20000000000000
0000000000mO0 objet 0000000 mO0O subject 0100000000 2m
00000000 kOO0 object 100 kOO subject 10000000000000 k00
subject 000 k+100 object 100000000000000 mO0 subject 000 1
00 object 0000000000000 0000000000000000000000
000 Jakobsou D OO [17]00000000000000000000

0 4500000000000 Glypg(0;) 0000000 4700000, 00 8,2 000
DmmmdmmdmQmﬂm*U:QQT@)DDDDDDDDDDDD4ﬁDDDDDD
0000, 00 s, 0000 covert channel 00 00000000000000000000
DDDDDDDDDDQQT@>DDDDDDDDDDDDD

for each object x € O do
Vi(z) = {z}; E'(x) = 0; Q= {}
for each vertex y € V do Depth(y) := 0o
Depth(z) :=0
while Q# ()
y :=DEQUEUE(Q)
for each vertex z € AbjFrom(y) such that Depth(z) = oo do
Depth(z) := Depth(y) + 1
ENQUEUE(Q, 2)
Vi) = V'(x) U {y}
end for
end while
for each edge (y,2) € F such that Depth(y) + 1 = Depth(z) do
E'(z) .= E'(z) U{(y, 2)}
end for

end for

0 4.5
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0 4.6 An example graph based on Jakobson’s paper[17].

0 4.7 G'(01) of a graph of fig.4.7.
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50

Joobobod

5.1 Warshall OO O OOOO

000000000000000000000 Warshal10OOOOOODOO [18)000
0000000000000000000000

Warshal 00 00 0000000000000000000000 WOOOOOOOO
0000z5y0y->5.00000000000WuU{y}000000000000 252
000D0O00O0Warshal 000000000 D 100 |V|00O0DO00000 {vy,---, vk}
000000000000000000000

00000000 51000000000000000000 GOO000000 ADDOODO
0000000 ADOOO GY0000000 AT000000WarshalDOOOODOOD0
0000000 O(V3)00000000000000 V) 00000000000000
0000O0O0Warshal 00 00000000000000000000

for k:=1to |V| do
for i :=1to |V| do
if i # k A Ali, k] then
for j :=1to |V| do A[i, j] :== Ali,j] vV Alk, j]

O 5.1 Warshall’s algorithm
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52 0O0O0O000OOUObDbObObOOOoOoUOUoDO

oooooo G = (V,E)oOoooooOoo cooooooo xz,y e CcO00nOO
Suce(z) = Suce(y) 0000000000002,y CO0000000 z-5y0y 5200
0000000002000000 a€ Suce(x) 000000000000 x—a0000
00200000000000000y—>ae0000000000000 Suce(x) C Suce(y)
00000000008 uce(y) C Suce(x) 00000000 Suce(x) = Suce(y) 00000
OO00O00O0DO00OO000o00000oDdD0PwdomO00O0000O0ODO0ODO 400000
00000000oO0o0oooooooo (190

1. 00000 GOO0O00O0000O0000000 Goooooon

2. 00000000 GUOOOODOO000000OOODODOO

3.00000000000GO000 CO0000000000O0O0CO000onooag
000000000000000000000000000000000Go0O0000
O00000000000D00OD0OD0O0O00DO0O0000000DoDoDoDoCcooooooo
O00D00000O0 dOo0DoO0ooDOooo0ooDOoooOooooDooog

4. GOOOOOO GOOOO0O0O000000000000 2000 X00OOOyOOO
YOOOOOOOOOOOoGooooooyao Suece(X)OOOOOOOOOOOOO
0000 yO Suce(x) D0O0DOOO

00000000000000000000000000O0

Purdom 000000000 1-300000000000000000Eved Kurki-
Suonio[20]0 Eber[21]0 Schmitz[22) 0 0 0000000000000 00000000000
000000000000000000000000000000000000 Tarjan OO
0000000000000000000 [23]0

53 00O0oooooooobooood

A0 G=(V,E)0 |V|x|V|DODODODODOODODADDD 100000000000000
00000 Afi,j]=true0000A2=AANADDDDDDDOOO0O0 GOOO02000
v; 50, 000000000000000 A%[,j]=true0 00000000000 AFC
0D000O0GOOD AOOO v 50, 000000000000000 A*[i,5] = true 0O
00000000000000000000000000000000 GY00000 ATO
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A00000000O00O0

\4
At =\/ A (5.1)
k=1

Furman 000000000000 At =\ Ax=@vAlV-laooooooooo
A+ 0 O(log, V) 00DODO0OD0ODO0OOOD0O [140|V|x|V|D0O0OD00 OV?)
00000000000 0Fuman 00000000 O(VelogV)0ODO0O0O0O0OO0O0O
0 O Coppersmith 0 Winograd 00« <2376 0000 [15]0

0000000000000000000000000000000000 Munro[24]0
Fischer 0 Meyer[25] 000000000000 00000000000000000000
00000000000000

00 5.1 M(2n) > 4M(n), M(3n) <27M(n)0000000 M(r)DODODOOOO0O00DO
00000 »nxn00000 O(M(n)0OODODO0DO0DO0DO0O00O0O0000O000000O
O(M(n)DDDDODODOOOO0O

0000000000000 O(nY) 00000000000« <2.3760
MunroOOOOOOOOOOOODO0ODOODOOOOOOO [24]0

1. 00000 G=(V,E)OOODDOO G=(V,E)000000

2.000000000000000000

3. 000000000 AD0DDDOOOODOOO GOOOO0OO0OO0OOO0O0OO0OOO0O0O0O0O
Doooooooooo

4. 000000000000000A0DODDOOOOOOOOOOO0OA(DDOO Ay O
,Ap)000000D0000

A * Al 1 A_Ll 2 ' AT 1 AT 1141 2A§ 2)
A= (OLL2h2) (O 12, 5.2
(ot ) = (M 5

5. 000000 GOOOOOOOOOO0

step A000A;1,420,4,,00002°0000000000000A0D000 24100
D0000000000000000000000200000000000000000
O000000000A;;0 4,,00GO000000 G0 G,00000004,,000
00000000000000000 Af,4,,45,000000000000000000
0000 S 0000w000000 S 00000000000000v-52000000
0% 0000v520000000 S 0000y->5000 (¢,y)00000000000
000

0000 1-30 O(VHOOO0O0OO0OMunro0OD0OO00 40 O(V)DOOO0OO00O0O
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0000000000050 O(VHOODOD0DO000|vVeY<|veoo0o0o0o0000o0oo0o
D00 o(WVY)=0(V*)oDooo
O0005000000??2000000covert channel 01000000000000000
00000000000000000000000000000
00000000000000000000000000000000000000000
O00000000000000000000000000000000000000000
ooooooo

54 0000000

godbooodooobooooobooooooooooooboooooooooouoonoa
oo ooooooooooooooooooooooad
000 Smon 0000000000 D00O0D00O0ODOOO0ODODOOOODOOOODOOOO
000000000000 [29]0Dar O Jagadish[30] O O O Jakobson[31, 32] 000000
goodbooodoooooooooooooboooooooooooobooooooooon
covert channel 0000000000000 0OO0ODOODOOODOOO covert channel O O
goddoooobodoooooboooobooooooboooooon

0DooOoooooo
00000000000000000000000000000000000000000
0000000000000000000000000 [28000000000000000
000000000000000000000000000000000000000000
00010000000000000000000 O(V?)000000000000 EOO
000000000000 OWVEY)0O0OOO0O0000000000000000000
000000000000000000000000000000000000000000
000000000000 00000000000000000000000000000
O0EO0000O0O0OOOOOOOOO0O0000O O(V+E)EY)DODD00D00DO

Italiano 000 0000000000000000000000000000000O0
000000000 ?J000000000000000000000000000000
V| |V|000D0000000000000000000000000 e00000000
0000 O(VE)DOOODODOO00O0O000000000000000000000000
000000000000000000Buchshaum O [35)000000000000000
000 Italiano 000000000000 Ttallano 000000000000 000000
000000 e0000000000000000000000 O(VE)DOOODODOOODO
0000000 [34]0
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La Peutré 0 van Leeuwen O O 0000000000000 O0DOODOOOOOOODOODO
0000000000000 360000 Ttaliano 0000000000 ODOOOODOOOO
0000000000000 000000000000oDoD0taliano 00000000 DOO
0000000 O(VE)OUDODODUOOOUOOO0OO0O0O0DU0o0o0ooooooooooooooo
O0taliano 000000000000 DODODODOODOODOOOOOtaliano0 0000
0000000 0OLa Peutré 0 van Leeuwen O O 000000000000 O0OO0OOOO0O
oo00o0oUoUo|g|00000000DLO0000 O(VE)ODOOODOOoooo

Yellin 0 O Italiano O 0 O La Peutré 0 van Leeuwen 0 00 0000000000000
0000 [370Yelin 0000000 D0O0OO0D0O0D O(VE)OOODDOOODODOOOO
Yelin 0OOOO0OO0OO0O00OD0d0000000000000000OO0O0O OWET)DODO
oooodoDoooooooooooooooooooooooooog

goobobooooboboooobbboooooo
ggobobooooboboooobobboooobbbooobbboooobLbboooono
godoooooooobobobobobooobobobobbobbbboobodooooooooooa
gooooooooooooooobobobobbbbbbboddodooooooo o
gogoboboooobbboooobbuoooobbboooobobo

Larson 0 Deshpande 000000000000 O0ODOOOOODOOOOOOOOODOOO
000 [380000000000000000000D000UO0O00O0O00D0O0O0OO
gooobobooobooboobuoo200b0o0oboo0obobooboboobOoobUoobOon
oooobobooboobooboobooblobobooboboobooboUobooboo
ggooboboogobobooooobobboooobooboboooooboooobbooooonoo
00000000 00O0bOO00O00ooO0oBOODODODOODODODOODODOODODODOODO
0000000000000000000000000 (000U o0o0ooOO0)UoooooO
oboo0oo0o0obO0oobOooU0oOobOobOb0obDOoOobOoooobUoboboobo BOOOO
000000000 00DO00DO0O0 Larsond Deshpande OO OOOOOOOOOOO
gobobbbooboooouobbobooooooobbb oo bbbooooobo
ggooboogobboooobobboooobobobuoooobobbooouobboooono
ggoboboogobbbooooobbooobboobooooobooooobbooooobo
goooo

Larson 0 Deshpande 00 0000000000000 ODOOODOOOOOOOOODOOO
ggooboboogobobooooobobboooobooboboooooboooobbooooonoo
0000000000000 00o0o0oU00O0000DoO0o0DoO0o0Oo0OooooOoI1/00
00000000000 0HuaO (56| 000000000O000O0O0OO0O0OO0O0OOOO
ggooboboogobobooooobbooobobobuooooobboooobbooooonoo
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000000000 I/O00000000000o0000o0Uo0oUoOFIFOOUOOOO
oooooood

Agrawal 0 Kiernan OO0 000000000 DDOOODODOOOO OLarson 0 Deshpanded
000 HuaODOOOODODOOOOOOOODODOOODOOOODODOOOOOOOO [39]0
goooo0oOo0oOooooooooooooOOCOOoOOOoO0Oooooooooooooon
O00D00000000000000000D00000000 Agrawal 0 Kiernan 00 00O
g0oooo0oU0OooooooooooooOoOoCOoOOUO0OoUooooooooooooo
goooo0oOoO0oooooooooooooOoOCOOoOOOoOoOoooooooooooooon
ocooooooooooooooooooOoOOboOoOobOoo0oooooooooooDo

ggobobooooboboooobboooooo

Jagadish 00 000000000000 00O00O0OOOOODO [40)0Simon 00000
00000JagadishO0OOO0OO SuecOO (Ciyv;) 000000000000 0OO0ODOOOO
C;000000v0 SueenC; 000000 OCCCODODO0OOOSImonO KOCODCOOOOOO
0000 [vg,v9,--,v] 000 Suece 000000000000 JagadishOODODOODOOO
000000000000 QkD0O0D00D0000O0D0O0D000O0DDO0O0O0OO0O0OO
0000000000000000000000000O Uk OODDO

Jagadish 00 OO0 000000 0OOODOOOOOOODOOOOODOOOODOODOOO
ggoboboogobboooobobboooobobboooooboooobbooooobo
gooboboooobbtbooobobbdooobbboooob bbb bbooobo
O00000000000000 SimonOOO0O0OO0OOO [29] 00000 Jagadish O Simon O
O00000000DO000O0D0000OJagadish OO O0OOD0OOOOCODOOODOODOOO
goobboooobobooouooboo

Agrawal 0 000 0000000000000 O000O0O0O0O0OO0OO0OO0OOOOO [26]0
0000000000000 0000ooooooo00 {L,L,---,,} 000000000
ooooo I=(,j)0004,4+1,---,70000000000000000000000
000000 SueeOODODOODOOOO2000000000000000000000
ggooboboogobboooobobbooobobobuoooobobboooobbboooono
ggoboboogobboooobobbooobobboooooboooobboooobo
0000000000000 00O0D0O00O000000D0OD0ODO0OD0OOOAgrawal O
ggoboboooobbboooobobbooobobbuoooobobboooubbboooono
gogobobooooobobuoooooboooboboooad

gobbboooouobbboooouobobboboooobobobobbooooobboo
goobbobodooooobobboboooooobbbobbooooobobbbooooobo
ugn
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0000000000 00000000000000000000 Agrawal 0 Jagadish O
0000000000000000000000000 [27]000000 (y,2,L)00000
000000 0000000000 y0020000000000000 2 € AbjFrom(z)
0y0O0O0D0D0O000D000000000000000LO0O00000000000000
00 Agrawal 0 Jagadish 000 000000000000000000000000000
000D000000000000000000000000000000000000

GuhO0DOD0O00OO0D000D0000D0000D00000000000000000 [41,42]0
00000 (2,9, Gay 9oy) 00000000000000000020 yO000 v w0
00000000000000G,,0 #,y00000000000000000 g, 00
(z,y) 0000000000000 D000000D00 ture0000000 v0000000
00000000000 (00000000000)0000000CGuh00000000
000000000000000000000000000000000

Agrawal 0 Jagadish 00D [27]0 Guh 000000 [41,42) 000000000000
00000000000 Agrawal O Jagadish 000000000000 Qdn?) 00000
00000000d0O00000000000000000000000000000000
000000000000000000CGuh0000000000000 Qn»?) 00000
00000»00000000000000000000000000O00O0O0000000
0000000000000000000000
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[J 60
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O0000000000000000D0Od covert channel 000 OO00OOCO0DOOOOO

1. ACLODOOO0DO0OO0O0 Ga0O00000
2. G4 0000000 Ga00000 GLO00000
3. G410 G400 covert channel 00 G 000000

Ga=(0,8,E)=(V,E)0000000000000000000D0O00Ostepl 000
00 ©F)0000Esko 0 STACK.TC[4] 000000 Ostep2 0000000 O(VV +
VE,+p)0000step3 0 O(0S)000000000000000000000000O0
0 OOS+VE,+VV+,)00000000x<VVOOOO

00000000000000000000

Step.10 G, 000

ACLODODDO0ODO0OOD G, 000000000000 00ACL OO0 permission O 0
O000zRy 0OO0000OAbjFrom(z) :== AbjFrom(z) U{y} 0000 02zWy OO OO0
AbjFrom(z) := AbjFrom(z) U{y} D000000000000000 Ga= (V,E)00O
O0read D00write 000000000000 0O0O0O0UOO 100000 ©(F)0OOO

Step.2 [ STACK_TC

STACK_TCH4] O Tarjan 0000000 [23]0000000000000000O0O0O0OO
gogoobooobbobuoodgn

STACK. TCOOUOOOO CO0000000 CoO0o0On Suee(C)ODO0OO0OOOOO
ggooboboooobobboooobobboooboboboooobobboooobboooono
00000000000 Suec(C)OD0O0DOD0DODOO0O0ODOODODCOODDOOODDOOOOOO
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0O000o000oooOoooo0bO coooooooooooooooooooOooooooon
Obo000obO0b0O0o0obOobOO0o0obU0ob0O0TarjanOODO00OODOOOOODODODODO
000000000000 CO0DD00oDo00o0o0o0oooooooooDooooDooOooon
00000 COo000on Swe(C)UODOODODOOODOOOOOOODODOOUOOOOOOOO
gooooboooooobooobodoooobbbobobooooobbboooooooobo
goooboooobobbooooobboooobboooobobboooubDboooooo

Tarjan OO0 000000 0ODODOOO

Tarjan 000 [23]0 ©(V +E) 0000000000 0OOOO0000000000000O
000000000000000000000000000000000000000000
000000000000000000000000000000000000000000
000000000000000000000000000000000000000000
00000000000000 2000000000000000000000000000
000000000000000000000000000000000000000000
000000000000000000000

Tarjan 000000000 610000000000 VISITOOOOOOOOOO VISIT
0000000000 000000000VISITOOOOO0O0O000000000000
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procedure VISIT(z)
begin
Root(x) := x; Comp(x) := Nil
PUSH(z, stack)
for each vertex y € AbjFrom(z) do
if y is not aleady visited then VISIT(y)
if Comp(y) = Nil then Root(v) :=MIN(Root(z), Root(w))
end for
if Root(z) = = then begin
create a new component C'
repeat
y := POP(stack)
insert w into component C
Comp(y) :=C
until y =«
end if
end
begin /* Main program */
stack := ()
for each vertex x € V
if x is not already visited then VISIT(z)

end

0 6.1 Tarjan’s algorithm detects the strongly connected components of graph G = (V, E).
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procedure STACK_TC(x)
begin
Root(x) := x; Comp(x) := Nil
PUSH(z, vstack)
SavedH eight(x) :=HEIGHT (cstack)
Sel f Loop(x) :=false
for each vertex y € AbjFrom(z) do
if y = x then SelfLoop(z) :=true
else
if y is not aleady visited then TACK_TC(y)
if Comp(y) = Nil then Root(v) :=MIN(Root(x), Root(w))
else if (z,y) is not a foward edge then
PUSH(Comp(y), cstack)
end if
end for
if Root(z) = = then begin
create a new component C'
if TOP(vstack)# x or Sel f Loop(x) then Succ(C) := {C'}
elseSucc(C) :=
sort the components in cstack between SavedH eight(v) and
HEIGHT (estack) into a topological order and elimintal duplicates.
while HEIGHT (cstack)# SavedHeight(z) do begin
X :=POP(cstack)
if X € Suce(C) then Succ(C) := U{X} U Succ(X)

end while

repeat
y := POP(vstack)
Comp(y) :=C

insert w into component C
until y =«
end if
end
begin /* Main program */
vstack := (; cstack := 0;
for each vertex r € V
if x is not already visited then TACK_TC(x)

end

0 6.2 Esko’s algorithm STACK_TC.
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Step.30 G 00O

5200000000Step.300 63000000000000000000000000
0COD00000000D0000000000000000000NumOfComp(y) 00
0yO0O0OD0DOOO0ODOO Comp(y) 00000000 yOODODOOODODOODODOOODOO
0 O0Comp(y)[NumO fComp(y)] := Nidl OO OO OComp(y)—{y} 0000 O(1) 00000

SNCOONCO0DD0DOOO0OO0O0Ocovert channel 0000000000000ONC
oooood

0??70000000 O0S)=0(V?)oDoo

for each object x € O do
for each vertex y € AbjFrom(x) do Comp(y)[NumO fComp(y)] := Nil
for each strong compornent C' € Succ(Comp(z)) do
Suce(z) := Suce(x) U (SNC)

for each vertex y € AbjFrom(x) do Comp(y)[NumO fComp(y)] :=y

0 6.3 A calculation G% from G4 and G,
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rtn:7, rtn:6, s:{[0,5]} rtn:8,

Sﬂoﬂ}‘l' “. ‘,’&$WH

rtn:4,
s:{[0,0],
[2,2]}

O 7.1 A DAG and the successor sets of its vertices represented as intervals.
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0 7.2 A graph the successor sets of which may require Q(n?) space.
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i:[5,3],
s:4[3,3],
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i[4,4], s:{} i;[3,3], s:{} i:[1,1], s:{}

0 7.3 The interval representaition of the graph in Figure 7.1 when the method of [26] is used.
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0 8.1 The experimental result; G(n, m,p = 0.0001)
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0 8.2 The experimental result; G(n, m,p = 0.0002)
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0 8.3 The experimental result; G(n, m,p = 0.0003)
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0 8.4 The experimental result; G(n, m,p = 0.0004)
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. 1000 | 2000 | 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000 | 10000
1000 0 0 0 0 1 1 1 1 1 1
2000 0 0 1 1 1 1 1 1 1 1
3000 0 1 1 1 1 1 1 1 1 1
4000 0 1 1 1 1 1 1 1 1 1
5000 1 1 1 1 1 1 1 1 1 1
6000 1 1 1 1 1 1 1 1 1 1
7000 1 1 1 1 1 1 1 1 1 1
8000 1 1 1 1 1 1 1 1 1 1
9000 1 1 1 1 1 1 1 1 1 1
10000 1 1 1 1 1 1 1 1 1 1
0 8.5 The experimental result; G(n, m,p = 0.0005)

. 1000 | 2000 | 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000 | 10000
1000 0 0 0 1 1 1 1 1 1 1
2000 0 1 1 1 1 1 1 1 1 1
3000 0 1 1 1 1 1 1 1 1 1
4000 1 1 1 1 1 1 1 1 1 1
5000 1 1 1 1 1 1 1 1 1 1
6000 1 1 1 1 1 1 1 1 1 1
7000 1 1 1 1 1 1 1 1 1 1
8000 1 1 1 1 1 1 1 1 1 1
9000 1 1 1 1 1 1 1 1 1 1
10000 1 1 1 1 1 1 1 1 1 1

0 8.6 The experimental result; G(n, m,p = 0.0006)
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. 1000 | 2000 | 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000 | 10000
1000 0 0 1 1 1 1 1 1 1 1
2000 0 1 1 1 1 1 1 1 1 1
3000 1 1 1 1 1 1 1 1 1 1
4000 1 1 1 1 1 1 1 1 1 1
5000 1 1 1 1 1 1 1 1 1 1
6000 1 1 1 1 1 1 1 1 1 1
7000 1 1 1 1 1 1 1 1 1 1
8000 1 1 1 1 1 1 1 1 1 1
9000 1 1 1 1 1 1 1 1 1 1
10000 1 1 1 1 1 1 1 1 1 1
0 8.7 The experimental result; G(n, m,p = 0.0007)

. 1000 | 2000 | 3000 | 4000 | 5000 | 6000 | 7000 | 8000 | 9000 | 10000
1000 0 0 1 1 1 1 1 1 1 1
2000 0 1 1 1 1 1 1 1 1 1
3000 1 1 1 1 1 1 1 1 1 1
4000 1 1 1 1 1 1 1 1 1 1
5000 1 1 1 1 1 1 1 1 1 1
6000 1 1 1 1 1 1 1 1 1 1
7000 1 1 1 1 1 1 1 1 1 1
8000 1 1 1 1 1 1 1 1 1 1
9000 1 1 1 1 1 1 1 1 1 1
10000 1 1 1 1 1 1 1 1 1 1

0 8.8 The experimental result; G(n, m,p = 0.0008)
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0 8.9 The experimental result; G(n, m,p = 0.0009)
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0 8.10 The experimental result; G(n, m,p = 0.0010)
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58

import java.util.x;

public class Vertex {
public int id;
public List<Vertex> AbjFrom = new ArrayList<Vertex>();
public List<Vertex> CovertSucc = new ArrayList<Vertex>();

public Vertex(int id) { this.id = id; }

Ooooo0 A.2 Component.java

import java.util.x;

public class Component {
public int id;
public List<Vertex> capO = new ArrayList<Vertex>();
public List<Vertex> capS = new ArrayList<Vertex>();

public IntervalSet Succ = new IntervalSet();

public Component(int id) { this.id = id; }

000000 A3 G.A.java

1 import java.util.x;

2
3 public class G_A {
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© 0 N O G

10
11
12
13
14
15
16
17
18
19
20
21
22
23

public ArrayList<Vertex> O = null,
public ArrayList<Vertex> S = null,;
public int E;

public G_A(int n, int m, double p) {
if(n<1 || m<1) throw(new NullPointerException());

O = new ArrayList<Vertex>(n);
for(int i=0; i<n; i++) O.add(new Vertex(i));

S = new ArrayList<Vertex>(m);
for(int i=0; i<m; i++) S.add(new Vertex(n+i));

for(Vertex x : O){
for(Vertex y : S){
if(Math.random()<p) {x.AbjFrom.add(y); E++;}
if(Math.random()<p) {y.AbjFrom.add(x); E++;}

—
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000000 A4 IntervalSet.java

1 import java.util.x;

2

3 public class IntervalSet {

4

5 public List<Integer> set;

6

7 IntervalSet() {

8 set = new ArrayList<Integer>();

9 }

10

11 public boolean contains(int i) {

12 if(set.size() == 0) return false;

13 for(int k=0; k+1<set.size(); k+=2){

14 if(i < set.get(k)) return false;

15 if(i <= set.get(k+1)) return true;

16 }

17 return false;

18 }

19
20 public void cuplnt(int i) {
21 if(set.size() == 0){
22 set.add(i);
23 set.add(i);
24 return;
25
26 if(i < set.get(0)) {
27 if(set.get(0)—1 == i) set.set (0, i);
28 else{
29 set.add (0, i);
30 set.add(1, i);
31 }
32 return;
33
34 if(i <= set.get(1)) return;
35 for(int k=2; k<set.size(); k+=2){
36 if(i < set.get(k)) {
37 if(set.get(k—1)4+1 == i){
38 if(set.get(k)—1 == i){
39 set.remove(k—1);
40 set.remove(k—1);
41 }
42 else set.set(k—1,i);
43 return;
44 }
45 else if(set.get(k)—1 == 1) set.set(k,i);
46 else {
47 set.add(k,i);
48 set.add(k,i);
49 }

50 return;
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51 }

52 if(i <= set.get(k+1)) return;

53 }

54 if(set.get(set.size()—1)4+1 == 1) set.set(set.size()—1,i);
55 else {

56 set.add(i);

57 set.add(i);

58 }

59 return;

60 }

61

62 public void cupList(List<Integer> S2) {

63 if(S2.size()==0) return;

64 if(set.size()==0){

65 for(int k=0; k<S2.size(); k++) set.add(S2.get(k));
66 return,;

67 }

68

69 List<Integer> S1 = set;

70 set = new ArrayList<Integer>();

71 int k1=0, k2=0, k=0;

72 if(S1.get(0)<S2.get(0)) {

73 set.add(S1.get(0));

74 set.add(S1.get(1));

75 kl1+=2;

76 }

77 else {

78 set.add(S2.get(0));

79 set.add(S2.get(1));

80 k2+=2;

81 }

82

83 while(k1+1<S1.size() && k24+1<S2.size()) {

84 if(S1.get(k1)<S2.get(k2)) {

85 if (set.get(k+1)+1 < Sl.get(kl)) {
86 set.add(S1.get(k1));

87 set.add(S1.get(k1+41));

88 k+=2;

89 }

90 else if(set.get(k+1) < Sl.get(k1+1)) {
91 set.set(k+1, S1.get(k1+41));
92 }

93 kl1+=2;

94 }

95 else{

96 if (set.get(k+1)+1 < S2.get(k2)) {
97 set.add(S2.get(k2));

98 set.add(S2.get(k2+1));

99 k+=2;

100

101 }
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102 else if(set.get(k+1) < S2.get(k2+1)) {
103 set.set(k+1, S2.get(k2+1));
104 }

105 k2+=2;

106 }

107

108 if (I(k241<S2.size())){

109 while(k1+1<S1.size()) {

110 if (set.get(k+1)+1 < Sl.get(kl)) {
111 set.add(S1.get(k1));

112 set.add(S1.get(k1+1));

113 k+=2;

114 }

115 else if(set.get(k+1) < Sl.get(k1+1)) {
116 set.set(k+1, S1l.get(k1+1));
117 }

118 kl14+=2;

119 }

120 }

121 else if (!(k1+1<S1.size())){

122 while(k2+1<S2.size()) {

123 if (set.get(k+1)+1 < S2.get(k2)) {
124 set.add(S2.get(k2));

125 set.add(S2.get(k2+1));

126 k+=2;

127 }

128 else if(set.get(k+1) < S2.get(k2+1)) {
129 set.set(k+1, S2.get(k2+1));
130 }

131 k2+=2;

132 }

133 }

134 }

135 }
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Oooooo0 A5 ObjectsBFS.java

1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36 }

import java.util.x;

public class ObjectsBFS {

private G_A g;
private List<Vertex> Q = new LinkedList<Vertex>();
protected BitSet VISITED;

public ObjectsBFS(G-A g) {

this.g = g;

this.VISITED = new BitSet(g.O.size()+g.S.size());
}

public void BFS(Vertex x) {
VISITED.clear();
VISITED.set (x.id);
for(Vertex y : x.AbjFrom) VISITED.set(y.id);

Q.addAll(x.AbjFrom);
while(Q.size() != 0){
Vertex y = Q.remove(0);
for(Vertex z : y.AbjFrom){
if(IVISITED.get(z.id)){
VISITED.set(z.id);
Q.add(z);
if(g.O.size() <= z.id) x.CovertSucc.add(z);

}

public void analysis(){
for(Vertex x : g.0) BFS(x);
}
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38
39
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41
42
43
44
45
46
47
48
49
50

000000 A6 STACK.CC.java

import java.util.x;

public class STACK_CC {

protected int DFO = 0;

protected int N_c = 0;

protected List<Vertex> vstack;
protected List<Component> cstack;
protected G_A g;

public ArrayList<Component> component= new ArrayList<Component>();

protected Vertex||] Root;
protected Vertex[] BeFrom;
protected Component[| Comp;
protected int[] NumOfComp;
protected int[|] SavedHight;
protected int[] DFOof;
protected int[] SearchIndex;
protected BitSet VISITED:;

public STACK_CC(G_A g) {
this.g = g;
this.vstack = new LinkedList<Vertex>();
this.cstack = new LinkedList<Component>();
this.Root = new Vertex[g.O.size()+g.S.size()];
this.BeFrom = new Vertex[g.O.size()+g.S.size()];
this.Comp = new Component[g.O.size()+g.S.size()];
this.NumOfComp = new int[g.S.size()];
this.SavedHight = new int[g.O.size()+g.S.size()];
this.DFOof = new int[g.O.size()+g.S.size()];
this.SearchIndex = new int[g.O.size()+g.S.size()];
this. VISITED = new BitSet(g.O.size()+g.S.size());

}

public void STACK_TC(Vertex x) {

List<Vertex> DFStack = new ArrayList<Vertex>();
DFStack.add(x);

vstack.add(x);

Root[x.id] = x;

SavedHight[x.id] = cstack.size();
DFOof[x.id] = DFO++;

SearchIndex[x.id] = 0;

VISITED.set (x.id);

while(DFStack.size() != 0){
Vertex y = DFStack.get(DFStack.size()—1);

if(SearchIndex[y.id] < y.AbjFrom.size()){
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else{

Vertex z = y.AbjFrom.get(SearchIndex[y.id]4++);
if(IVISITED.get(z.id)){
DFStack.add(z);
vstack.add(z);
Root[z.id] = z;
BeFrom|z.id] = y;
SavedHight[z.id] = cstack.size();
DFOof[z.id] = DFO++;
SearchIndex[z.id]= 0;
VISITED set(z.id);

}

DFStack.remove(DF Stack.size()—1);
for(Vertex z : y.AbjFrom) {
if(Comp[z.id] == null){
if(DFOof[Root[z.id].id] < DFOof[Root[y
.id].id]) Root[y.id] = Root[z.id];
}
else if(DFOof[z.id] <= DFOof[y.id] || BeFrom[z.id] ==
v){
cstack.add(Comp]|z.id));
}
}
if(Root[y.id] ==y) {
Component C = new Component(N_c);
component.add(N_c++, C);
if(vstack.get(vstack.size()—1) !=y) C.Succ.cupInt(C.id);

while(cstack.size() !|= SavedHight[y.id]) {
Component X = cstack.remove(cstack.size()—1);
if(!C.Succ.contains(X.id)) {
C.Succ.cupInt(X.id);
C.Succ.cupList(X.Succ.set);
}
}

Vertex z = y;
do{
z = vstack.remove(vstack.size()—1);
Comp|z.id] = C;
if(z.id < g.0.size()){
C.capO.add(z);
}

else{
NumOfComp|z.id—g.O.size()] = C.capS.
size();
C.capS.add(z);

} while(z !=y);
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99
100
101
102
103
104
105
106
107

108
109
110
111
112
113
114
115
116

117
118
119 }

}

public void analysis(){
for(Vertex x : g.0) if(IVISITED.get(x.id)) STACK_TC(x);
for(Vertex x : g.S) if(!VISITED.get(x.id)) STACK_TC(x);

for(Vertex x : g.0) {
for(Vertex y : x.AbjFrom) Comply.id].capS.set(NumOfComply.
id—g.O.size()], null);
List<Integer> X = Comp/[x.id].Succ.set;
if(X.size() != 0){
for(int i=0; 1 < X.size(); i+=2)
for(int j=X.get(i); j<=X.get(i+1); j++)
for(Vertex y : component.get(j).capS)
if(y !'= null)
x.CovertSucc.add(y);
}
for(Vertex y : x.AbjFrom) Comply.id].capS.set(NumOfComply.
id—g.O.size()], y);
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000000 A7 JIKKEN138.java

1 import java.io.Buffered Writer;

2 import java.io.FileNotFoundException;

3 import java.io.FileWriter;

4 import java.io.lOException;

5 import java.util.x;

6

7 public class JIKKEN138 {

8 List<Integer>DATA = new ArrayList<Integer>();
9 long t1=0, t2=0;

10 int n = 0;

11 int m = 0;

12 double p = 0;

13 String folder = null;

14 G-A g;

15

16 JIKKEN138(String[] args){

17 this.n = Integer.valueOf(args[0]);

18 this.m = Integer.valueOf(args|[1]);

19 this.p = Double.valueOf(args[2]);
20 this.folder = args[3];
21 }
22
23 public void create() {
24 t1 = System.currentTimeMillis();
25 g = new G_A(n, m, p);
26 DATA. add(g.E);
27 t2 = System.current TimeMillis();
28 DATA. add((int)(t2—t1));
29 }
30
31 public void analysisl() throws IOException {
32 t1 = System.current TimeMillis();
33 STACK_CC anal = new STACK_CC(g);
34 anal.analysis();
35 t2 = System.current TimeMillis();
36 DATA .add((int)(t2—t1));
37 }
38
39 public void analysis2() throws IOException {
40 t1 = System.currentTimeMillis();
41 ObjectsBFS anal = new ObjectsBFS(g);
42 anal.analysis();
43 t2 = System.current TimeMillis();
44 DATA .add((int)(t2—t1));
45 }
46
47 public static void main(String|] args) {
48 JIKKEN138 J = new JIKKEN138(args);
49 int start = Integer.valueOf(args[4]);
50 int stop = Integer.valueOf(args[5]);
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51
52
53
54
55

56
57
58
59

60

61

62
63
64
65
66
67
68
69
70
71
72
73 }

try{

for(int i=start; i<=stop; i++) {
J.create();
J.analysis1();
for(Vertex x : J.g.0) x.CovertSucc = new ArrayList<
Vertex>();
J.analysis2();
}
System.out.println("stop\txx:xx");
BufferedWriter bw = new BufferedWriter(new FileWriter(args
[3] + "DATA.txt"));
bw.write("O O " + "\tN1="-+args[0] + "\tN2="+args[1] + "\tp=
"4args[2] + "\tfolder="+args[3] + "\tstart="-+args[4] +
"\tstop="+args[5] + "\n");
bw.write("O OO\t 0000 [ms]\t 00O 0O (STACK) [ms]\
t 0000 (BFS) [ms]\n");
for(int i=0; i<J.DATA size(); i++){
bw.write(J.DATA.get(i) + "");
if((i+1)%4 == 0) bw.write("\n");
else bw.write("\t");

}

bw.close();

} catch(FileNotFoundException el) {

el.printStackTrace();

} catch (IOException el) {

}

el.printStackTrace();
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